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5/62 8 A 1 18/ 2P
() 850 9:00 855 950
1% 3D 1y 6.6 18
2B 27 16 7.8 18
34 73 59 38 51
8.1 72 75 8.2 7.8
() 1a 72 72 12 9.1
() 5.8 35 35 6.7 49
(o) 12 82 74 9.2 9.2
() 10 6 5 8 7
() 1.10 0.86 0.64 097 0.89
() 01 8 00 B8 00 8 0.048 0.068
(o) 0.03 0.03 0.03 0.04 0.03
() <01 0.02 <01 0.05 0.02
() < @02 < @02 < @02 <Oaa 0.002
a( /md) 7 6 3B 3® 52 43
5 p6 8 A 1 18 2P
() 130 1 @0 125 1 80
18 356 256 72 19
21 28 1% 83 13
14 20 35 23 23
82 79 75 8.6 81
() 146 12 10 138 16
() 18 14 52 14 13
() 15 17 9.1 18 15
() 40 34 12 29 29
(/1) 251 244 141 221 214
(/) 0.304 0.320 0.140 0.273 0.259
() <@ 0.03 0.07 0.02 0.03
(o) <@ <@ 0.36 <@ 0.10
() <0aAa <0aAa 0.015 <Oaa 0.005
a( /md) 289 26 58 28 22




5 /62 8 A 118 2P
() 125 1 B0 125 1 D0
18 36 18 83 19
2D 30 16 55 18
17 38 22 69 37
8.0 8.1 75 9.0 8.2
(11 15 98 1® 12 156
(11 12 65 66 71 8.1
(11 20 18 13 9.8 15
(11 24 16 13 5 15
(11 167 167 121 122 144
(11 0.161 010 01 0@ 0.078 0.119
(11 002 0.02 < @1 0.04 002
(11 < @1 < @1 < @1 032 0.09
(11 <DQ < @02 < @02 0013 0.005
a( /md) 12 12 13 4 ® 10
5 /52 8 A 117/ 2P
() 8550 1 B5 9:00 125
1D 32 2D 8.9 2 ®
2 B 2B 18 8.9 1%
47 66 63 60 59
72 78 73 77 75
(11 86 70 6.0 9.4 78
(11 20 12 17 40 22
(11 44 44 40 5.0 45
(11 11 11 7 6 9
(11 195 2.32 393 552 343
(11 018 0.1 019 0.157 0.156
(11 008 0.03 007 091 027
(11 147 1.82 326 406 265
(11 00 B <0.002 010 0.086 0.064
a( /md) 10 13 6.2 18 1D




5 D5 8 A 117/ 2P
() 1 %0 1325 130 1325
2@ 37 2 & 1® 220
26 2 9% 20 8.9 2D
32 25 26 50 33
82 86 74 78 80
(11 13 1B 79 10 10a
(11 73 10 83 6.8 8.1
(11 21 28 17 10 19
(11 14 20 15 8 14
(11 153 218 150 101 156
(11 012 0.180 0.132 0.096 0.133
(11 0.04 < @1 < @1 002 0.02
(11 < @1 < @1 < @1 < @1 001
(11 < @02 <DQ <DQ <@Q | 0002
a( /m) 64 18 9% 3a 8 &
1199 + + 100
B
506|118 506|128 |52 |118|5/25 147|525/ 127
5
2 2 2
1
+ 7
2 3
+ + + 4 5 1 + + ++ ++
4
n
3 1
7 ++ + + 6
3
1 1 + 3
8 2
1 1
+ 5 + + ++ + + +
5 1 7 7
1
1 1
14 5 4 3 4 4 3 7 5 5 7 |2







